1. A compound contains 26% nitrogen and 74% ‘oxygen. Its molecular formula will be
(A) N0 (B) NO

(C) NO; (D) N,Os

\/ 9T QAN 26% IRFTER S 74% e Awwm e 7@ T
(A) NoO (B) NO

(®) NO, ﬂ N,O¢

2. 20 gm of a metal produces 0-504 gm H,(g) on reaction with dilute H,S0,4. Calculate the
receivable amount of metal oxide from 2 gm of same metal.

(A) 24 gm 8) 22 gm
(C) 2-8 gm (D) 2-6 gm

3l 20 & &0 4P aqH2804-mﬂt=rﬁmm 0-504 919 H, (s777) Seom @1 2 am w4

wmm@mmmﬂﬁwﬂww
24 gm (B) 22 gm

(C) 2:8 gm (D) 2:6 gm

3. Azimuthal quantum number of 17th electron of chiorine atom will be
(A) 2 (B) 1
(C) 3 (D) O

ol @A ARAR 17-X TG0 S @GN R
(A) 2 )
5y 3 (D) 0

| - -19
4 What will be the wavelength of a photon having energy 16V (1eV =1.601x10 J)?

7 (B) 12.41x107°m
(A) 1.241x10 M

7 (D) 1.241x107°m
(C) 12-41>c10 m

sam) 397 (1eV=1.601x10 -19J)

g1 ey WfER CRIOEH )
' 8) 12-41x10°%m

(D) 1-241x107m
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5. Which of the following sets indicates correct order of first ionisation &{ntial?
(A) K>Na>Li (B) Be>Mg>Ca

(C) B>C>N (0) Ge>Si>C
¢! e @R GO auw wwAsI e e Fok $E?

(A) K >Na>Li M Be>wmg>ca

(€) B>C>N P Ge>Si>C

6. Bond order of O, molecule, O3 ion, O, ion and O%" ion will be

(A) 2, 25, 1-5, 1 . (B) 2, 15, 25, 1
(C) 1, 25, 2, 15 | (D) 15, 25, 1, 2

(B) 2, 15, 2:5, 1
(D) 18, 2:5 1, 2

7. Which of the following pairs is iso-structural?

(A) XeF,,IF; (B) NHg, BF;
(C) CO%~, SO5" | ' (D) PClg, IClg
q Aow @R @liHre IR @ER A ANR?

XeF,, IF; (B) NH,, BF,
(C) CO%~, S0%5" , (@) PCls, ICs

8. Consider the following reaction : -
CHy 205 (glucose)(s) + 80,{g) - 8CO,(g) + 8H0(g), AH = -2840 kJ

Tell the amount of energy required to generate 0-36 gm glucose following the above reverse

reaction. ‘
(A) 568 kJ | (B) 568 kJ
(C) 568 kJ | 1 (D) O-568 kJ

vyl fee Rt e 39 |
|  CgHy0g(glucose)(s) + 80,(g) - 6CO(g)+ 6H,0(g), AH =-2840 kJ
036 o TS SR W R o WA o Geae Reife Rftwwa cwoa ok T

%568 kJ , (D) 0-568 kJ

JC—Series P2 3
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o | - | 350 K
9. Under adiabatic process, one mole of an ideal gas is compressed to its gU volume &

temperature. Determine the final temperature [C, =12:55 JK"‘mol"1]-

(A) 7385 K (B) 10115 K
(C) 12845 K (D) 1750 K

51 350K%&ﬁww%m1mwwaﬂwﬁm-;-W‘“Wﬁ‘w

ORI Rt w0 [, =12.65 K Tmor ']
(A) 7385 K 10115 K
£€) 12845 K o R

10. Rates of a first-order reaction after 10 minutes and 20 minutes are 0-04 mol jit's™' and

0-3 mol |jt~1g~" respectively. Calculate the half-life of the reaction.
(A) 32:4 min (B) 24:3 min
(C) 486 min (D) 97-2 min
vol W #3W Fw Rfgar 27 10 ™D = 0-04 mol jit-1s~! @2 20 RS =W 0-3 mol it st !
RiFaifba wdSmam fady 72

(A) 32:4 min (B) 24-3 min

48:6 min (D) 972 min
11. Which of the following gases has the density 1-8 gm/lit at 27 °C temperature and 760 Torr
pressure?
(A) O, (B) CO,
(C) NHj3 (D) SO,

Y51 WA HPIgRR Ty @B 27°C TawS 8 760 BT BT WY 1-8 gm/lit TE?

(A) O, \W Co,

(C) NHj D) SO,

12. A cooking gas cylinder can withhold gas pressure up to 14:9 atm. pressure. If g cvi
. : I a
that kind has the gas pressure 12 atm. at 27 °C, then tell at which temperature itc::illrl‘d:l:r:tf

(A) 372:5°C (B). 89:5°C
(C) 99:5°C (D) 100-5 °C

JC—Series PI2
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/B. Which of the following fons has the least hydration energy?

(A) L+ (B) K'
(C) Ca'* 0) A"
W AT wme Wy cdr weTgmia W g v
(R) Li* é K’
b\‘.
(C) Ca*-*- (D} AII b4

27. Which of the following compounds contains Mg lon?

(A) Haemoglobin (B) Vitamin By
(C) Ascorbic acid (D) Chlorophyll

1 A Aol g @Res Mg S T6EE?
(A) TeronRs @ feofm By,

(C) Wraie  wifrs Wﬂ

28. Which of the following ions shows maximum paramagnetic property?
(A) [Cr(H,0)% " (8) [Cu(H,0)g]*"

(C) [Fe(H,0)q1%* (0) [Zn(H,0)]*

KT s smstn @nire w@w smprdn of oo o
(A) [CriH0)P*

(B) [Cu(H,0))*'
@{e{lﬂzow* (D) [Zn{H,0) 1"

29. |dentify X, Y and Z of the following reactions :

X+ K2003 + 02 —+“°-5!-—>Y(gmen)

Y +Cly - Z(Pink) N\
w5

\
(A) X =Mn02, Y= chro‘, Z=K 4 (B) X =Cr203. Y = chr04, Z= K2Cr20?

() X =Mn0z, Y =KoMnOy, Z=KMnO; (D) X =Bi,O3, Y - KBIO,, Z =KBio,
p| FEERT REmePR T X, Y e z-@ e =

X+K,COs 05—t s Y (W)

YaCly—%2Z (m)

. B) X=Cr0s Y =KyCro, 2 - K2Cr,0
X=MnOy, Y =K,;MnD4, Z=KMnO, (D) X= BiyO,, Y - KBIO,, 2 = KE 6 ; 7
™3

-~ JC—Series P12 | 8
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30. Regarding [Ni(CN’}”Z complex on which of the following statem

(A) Ni*2 jon is sp’ hybridized and complex ion 1S paramagne

(B) Ni*2 ion is dsp? -hybridized and complex fon is diamagnetc
(C) Ni*2 ion is sp? -hybridized and complex ion s diamagnetic

(D) Ni*2 ion is ::l'sp"’2 -hybridized and complex ion is paramagnetic.

oo [NKCN) 2~ &1 wias smoicd s o 7@ 757
(A) Ni*2 SR sp? FAMRT QR oA A4S SRGII |
By wm dsp? e ax wba s forEd
©) Ni*2 um sp? e Rk wha Al ferpTdm)

(D) Ni*2 SRR dsp? -STRRAMS 4R e 7740 APFTFPR

31. IJPAC name of the compound CHg—CECAiH—CHO IS

Hs
(A) 2-methyl-3-pentenal
(B) 2-methyl pent-4-ynal
(C) 4-methyl pent-2-ynal :
(D) 2-methyl pent-3-yne-1-al
&S| CHe-C=C—CH—CHO @sifba 1uPAC F1R ==

Hs

(A) 2-faares-3- i
(B) 2-RAZH  (H-4-TWTWH

(C) 4-Fiitm (oG- 2-\Bay™ "

o
gcollegedunlaa
India’s largest Student Review Platform

S—



Compare the nucleophilicity of the following nucleophile

O
i I
CHg-Q‘, -—3(|)~ CHE_—%(H)' %Nuuy CHah 8(IV)
O
A (> @y > 1y > (av) (B) () > (n > iy > (1V)
C) V) >y > amy > )y (DY (I > (I > (1) > (IV)
o | ﬁﬁ%ﬁ@ﬁ@&ewmmmww:
G o T 0
CHr(ﬁ—O{l)- CH3,—8(II)' CN(IIN)» CHrﬁ“‘O(W)
0
() > () > (1) > (Iv) B) M) > W) > > v
(€) (V) > (1) > (ny > () £0) () > () > (1) > (V)

33.

A hydrocarbon. having molecular formula CgHy» upon ozonolysis produces only one carbonyi
compound which does not reduce Fehling solution. The hydrocarbon is

(A) 2-hexene (B) 2,3-dimethyl-2-butene
(D) 2-methyl-2-pentene

(C) 1-hexene

(C) 1-CZF™ (D) 2-NafEs-2-ofGw
(i) B,Hg/THF ' |

P ———r—ca b d

(i) CHiCH,COON?0 °C

Compound Y will be -

(A) 1-butyne - (B) 2-butanol
(C) cis-2-butene

34. CH;—C=C—CHj,

(D) trans-2-butene

(ﬁ) 2-REb=E
(D) Gror-2-ffa

- 4C—Series P2 o 10
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35. Reagent required for the following transformation IS

CH, THO
o |- -——-——-——-—ar[ 0 ]
L ~
(A) CrO,Cly, H,0 (B) conc. HNO;
(C) alkaline KMnO,4 (D) acidic K,CrO;

] Nz st & dEiEan R o=

R ey s
g CrO,Cl,, H,O (B) ¥ HNOj
(C) ﬁﬁlﬂ KMI"O4 (D) Wm K20T207
36. Identify the final product P -
OH

() KOH (1) H*/H,0
O |—mm—m——m——mmN—77"——7F7—>P
(i) CO,(s) (i) (CH3CO),0/H™ (cat. amt)

(A) o-acetylsalicylic acid (B) salicylic acid
(C) phenyl acetate (D) p-(o-acetyl) benzoic acid

ov| WA @Y P-F *ME 39|

OH
/K - +
0 j (1) Ko.li__)N (i) H ngO "
(i) COx(s) (i) (CH,CO),OM*(T® o)
N W
(A) o-ePbRer ez wfo (B) FEmRfe wnifre
©) Rzt s ) (o) e e
JC—Series P/2 11

o
gcollegedunlaa
India’s largest Student Review Platform

S—



37.

Predict the structure of K and L of e foflowing reaction

. . Anhvd /nCL
CH.CH, - O-~CHs-CH, + CH,COC “yK |

Q

(A) CH; -C—OCHLH, CH.CH.CI

O

{
il

(B) CH;~C—CH;—CH;—~0—CH;—CH, HCl

I
(C) CH,=CH,. CH;—C—OCH,CH;

(D) CH;—C—CH;—CH; CH;CH;—O0—Cl
O

oai fEEies RigFala wiey @9 K 8 L7 55 s +:17 -

1" ZnCl
CHyCH—O—CHs—CHs + CHyCOCI—— 25K + L
I
K’@SH:{—(}—OCWCI-i,,m CH,CH,CI
O
|

(B) CH;‘C_CHT*CH{'O'—‘CH{“‘CHS' HC!

I

o CH/=—CH,, CH;—C ~—QOCH;CH,

(D) CHS——R—Q'I; ' C“!, CHT_CHI——O—CI
O

12
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38.  Acetaldehyde on oxidation with SeO, produces

(A) glyoxalic acid (B) oxalic acid
(C) glyoxal (D) acetic acid

ool SeO, art wnbibERte3iua s Becm 33
A) axEEl Wb (B) =Hfaa b

\V@‘zm (D) sicE =T

39. Identify the final product of the following reactions :

O
| (i) Me,CulLi

CHi—C—Cl—— ———>Final Product
. (1) Conc. H,SO,/Distill N

O
|

(A) (CH,;),C=CH—C-—CH;,

]
(B) (CH,),C=CH—C—CH==C(CHj3),
(C) 1,3,5-trimethyl benzene |

on| WEfafRe Rigniefr w@ w3y @@ “ae 33

0
| . (i) Me,CuLi o
—C—Cl——— > 9y
CHy—C (i} Conc. H,SO,/*Iow

O

I
(A) (CH3),C=CH—C—Ch;

O

I
IB) (CH,), —CH—C—CH—C{(CH,),

ﬁ-trimethyl benzene

(D) HaC=C(CH;),

JC—Series P/2 13
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110 °C, then it will
40. |f 5 mixture of anhydrous glycerol and excess oxalic acid 1S heated -
Produce
(A) acrolein (B) formic acid
(C) glyceric acid (D) acetic acid

A0 33 T
S| G b ez s s wbTeT Ruers 110 °c oA 588 T

3T
(A) SFRR W w1Bre

(C) fimfys =piffe (D) S[EvE SPR

41. Greenhouse gases show their activity by confining in the air-zone of

(A) mesosphere (B) stratosphere

(C) troposphere {D) thermosphere

831 fawarew apmisfe AEet @ SEm A SHAA S S @
(A) @A () FHroifFETE

\\_@’&wﬁwﬂ ©) <icdifer

42. Nitrobenzene on reaction with phosphinic acid (H3POs) at some elevated temperatL
produces https://www.tripuraboard.com

(A) aniline (B)

AR

p-aminopheno! .
(C) phenylhydroxylamine (D} phenylhydrazine -

83| TAYGRET TR Wifitea (HaPO,) WWWWW%W%&WW

@) o B ot

©) RaieRRgREenii (D) FF=igersZmittm

43. Benzenediazonium chloride upon treatment with Zn/HCI produces - '_'

(A) aniline (B) phenylhydrazine
(C) azobenzene (B} hydrazobenzene

go| Zn/HCI-4Z % Rigromeam emiRes Afemm Sem w0 |
S A e mgRw
C) SSTCeR O TrEEEhE

JC—Series P/2 - 14
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4 P 5
NCHLCN on reaction with NaOH / HyO» produces ¥

(A) phCHzCOO Na'

(B) PhCH,OH
(C) PhCH,CONH,

(D) PhCH,NC
NaOH / H,0, -9 stw R um PhCH,CN Beom =3

(A) PhCH,COO Na*
hCH,CONH,

88 |

g®) PhCH,OH
(D) PhCH,NC

Which one of the following is the polyamide polymer?
(AY Terrylene (B) Rayon

(C) Nylon-
ylon-6 (D) Polystyrene

§a! AR D Rrmits iR o

(A) ;%1?: - (B) @
-6 o, (D) ﬂmﬁﬁﬂ

o

45.

46. : .
6 \:':t;lcg one of the following carbohydrates belongs to monosaccharide family?
ucrose (B) Maltose
(C) Fructose (D) Starch

8| mmeﬁ“—lﬁmmﬁmﬁm@mmmﬁ?

(A) (B) oS
ﬁ: (D) 16
47.

In RNA pentose sugar unit present is

(A) glucose '
o) Fheos (B) deoxyribose

(D) fructose

841 RNA-(T TS orhre =$a1 z=m

(A)
B) R-wf¥maizmms
Jﬂ;;ﬁ Oy TS

48. Which one of the following is a nonessential amino acid?

(A) Valine
_ (8) Proline

C) L

(C) Lysine (D) Phenylalanine
8y B WG wemmreiiy syt S 9 |

(A) Spform N

i

(@) #RHw (D) R=iew wyEnfem

JC—Series Pi2
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48. Correct structure of paracetamol is

/ _NHCOCH;
(A) HO*—’\_;\.»—CONHz (8) HS*@ -

/o OCH
(C) C'“Q}—NHCOCH;, (D) HO@NHC 3

8% “NRIOINE-93 s stw

/
\ OCHas;
(A) Ho—”\i/——cosz (B) HSNHC -
, . \.

50. Follow the chemical reactions :
FeCly + K4[Fe(CN)g] — Prussian blue precipitate
FeCl; + KNCS — Blood red solution
Generation of blue and red colour due to the fdnnation of

(A) KFe[Fe(CN)gl, K3[Fe(CNS)g]
(B) KFe[Fe(CN)g], Fe[Fe(CNS)g]
(C) KyFe{Fe(CN)gl, Fe[Fe(CNS)g)
(D) Fe[Fe(CN)g), Fe[Fe(CNS)g)

¢ol fTe Rfidrnt ufd wepras ==

FeCly +K4[Fe(CN)g] — efmia 1 Y TH
FeCl; + KNCS - 303 ot &1 w‘m wr

CiC i 2 A wy A ooR LU
KFe[Fe(CN)e], K3{Fe{CNS)g]
(B) KF&IFGICN)&]; Fe[Fe(CNS)g]

(C) KoFelFe(CN)g), FelFe(CNS)g)\ _
@) FelFe(CN)gl, Fe[Fe(CNS)q] '
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